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Discount rate . cost of capital

a{AlARSE © NPV>0 accept the project
NPV<O0 reject the project
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1 ) Inflation

Real interest rate BSIFEKEZ=
nominal interest rate &31BIKEIENH

“EXRR BE]

(1+i)=(1+r)(1+h)

Where h rate of inflation
r real rate of interest
i nominal (money) rate of interest

@4 : i=r+h }.
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Real cash flows (cash flows in current prices) should
be discounted at a real discount rate, which is a return
ignoring inflation.

Nominal cash flows(the actual expected cash flows at
future prices) should be discounted at a nominal
discount rate, which is a rate relating to current market
rates of return.
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2) Tax
Payments of tax, or reductions of tax payments, are
cash flows and ought to be considered in DCF analysis

EITENPVESZ [SEtaxAy[a):

® The assumption of tax: pay In current year or pay In
arrears

® Net operating cash flows from a project should be
considered as the taxable profits
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Tax on depreciation:

irIHESAARcash flow, {BEE1HERMET, depreciation
expenseBEZE AN/ M tax, HIttE—Ilcash inflow

There are two possible assumptions about the time when
tax-allowable depreciation starts to be claimed.

(a) It can be assumed that the first claim occurs at the
start of the project (at year 0).

(b) Alternatively it can be assumed that the first claim
occurs later in the first year.
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F*Fdiscount rate:

When taxation is ignored in the DCF calculations, the
discount rate will reflect the pre-tax rate of return
required on capital investments.

When taxation is included in the cash flows, a post-tax
required rate of return should be used.
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Red Co is considering the purchase of a machine for
$2,190,000. It would be sold after four years for an
estimated realizable value of $790,000. By this time
tax-allowable depreciation of $1,450,000 would have
been claimed. The rate of tax is 30%. What is the cash
flow arising as a result of tax implications on the sale
of the machine at the end of four years?

A. Inflow of $15,000

B. Outflow of $50,000
C. Outflow of $459,000
D. Outflow of $15,000
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Year 0 Year 1 Year 2 Year 3 Yeard

Sales receipts X X X

Costs _ X (X (X _

Sales less costs X X X

Taxation on profits (X) (X) (X) [X)

Capital expenditure (%)

acrap value X

Working capital (%) X

Tax benefit of tax dep'n . X X X X
(X) X X X (X)

Discount factors @

post-tax cost of capital X X X X X
Present value (X) X X X X)
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Working capital:
ZEEN N EI

When working capital is recovered at the end of the
project it has a different nominal value to the working
capital that was invested at the beginning. The nominal
value of the investment should be inflated each period
to maintain its real value.

Year 0 1 2 3
Working capital (500,000) | (25,000) |(26,250) |551,250
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The details of an investment project are as follows:

Life of the project 10 years

Cost of asset bought at the start of the project 100,000
Annual cash inflow 20,000

Cost of capital, after tax 8% each year

Corporation tax is 30% and is paid half in the year and half in the
following year, in equal quarterly instalments. The instalments are
In the 7th and 10th months of the year in which the profit was
earned and in the 1st and 4th months of the following year. Tax
allowable depreciation of 25% reducing balance will be claimed
each year. What is the present value of the cash flows that occur in
the second year of the project?

A 17,622 B 18,426

C 20,193 D 22,764
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Tax allowable depreciation in year 1 = $100,000 X 25% = $25,000
Tax savedin year 2 = $25,000 X 50% X 30% = $3,750

Reducing balance of asset at beginning of year 2

=$100,000 - $25,000 = $75,000

Tax allowable depreciationin year 2 = $75,000 X 25% = $18,750
Tax saved in year 2 = $18,750 X 50% X 30% = $2,813

Annual cash inflow 20000
Tax on inflow @30% (6000)
Tax saved (year 1) 3750

Tax saved (year 2) 2813

total 20563
discount@8% 0.857
PV 17622
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